6.2 - Trig Equations Part T Wednesday, April 17, 2019 10:40 AM

Linear Equations: E.g. 3tan 0 - 13 = 0 a Solve for Θ in $[0^{\circ}, 360^{\circ})$ \rightarrow 3 tine = $\sqrt{3}$ → tan 0 = $\frac{\sqrt{3}}{3}$ (Isolated tan 0) From unit circle, $\theta = 30^\circ$, 210° (b) Solve for all solutions: $\theta = 30^{\circ} + n \cdot 360^{\circ}$ where n = 0, 1, 2, 3...-1, -2, -3, ... $\theta = 210^{\circ} + n \cdot 360^{\circ}$ where $n = 0, \pm 1, \pm 2, \pm 3, \dots$ Ex. Solve the equation $2\sin x + 3 = 4$ (b) All rolutions. (a) $O_n \left[0^\circ, 360^\circ \right)$ $Sin x = \frac{1}{2}$ x = 30° + n. 360° x = 30°, 150° $x = 150^{\circ} + n.360^{\circ}$ Where n=0, ±1, ±2, ±3,...

Wednesday, April 17, 2019 10:51 AM

Root Extraction: E.g. Solve aquations: 4 cos² x - 1 = 0 $\bigcirc On [o^{\circ}, 360^{\circ})$ $- ; (on^2 x - \frac{1}{4}) - ; (on x - \pm \sqrt{\frac{1}{4}} - \frac{1}{2}) = \frac{1}{20}$ ол <u>сври – 4</u> – $conx = \frac{1}{2}$ × = 60°, 300° r = 120°, 240° (b) All solutions: $x = 60^{\circ} + n \cdot 360^{\circ}$; $x = 300^{\circ} + n \cdot 360^{\circ}$ $x = 120^{\circ} + n \cdot 360^{\circ}; \quad z = 240^{\circ} + n \cdot 360^{\circ}$ $n = 0, \pm 1, \pm 2, \pm 3, \dots$ Ex. Solve tan x + 3=0 (b) All rolutions (a) On [0,2x) No solutions. $\tan^2 x = -3$ $\tan x = \pm \sqrt{-3}$ - No solutions

Wednesday, April 17, 2019 11:02 AM

Quadratic by factoring. $E.g. - 2sin^2x = 3sinx + 1.$ a Solve over [0, 2π) 2 $0 = 2\sin^2 x + 3\sin x + 1 = \frac{1}{1} = \frac{2}{2}$ 3 $O = (\sin x + 1)(2\sin x + 1)$ _ لمر $\sin x + 1 = 0$ or $2\sin x + 1 = 0$ on $nin x = -\frac{1}{2}$ surge = -1 $x = \frac{3\pi}{7}$ $x = \frac{7\pi}{6}, \frac{11\pi}{6}$ (b) All solution: $x = \frac{3\pi}{7} + n \cdot 2\pi$; $\frac{7\pi}{6} + n \cdot 2\pi$; $\frac{11\pi}{6} + n \cdot 2\pi$ where $n = 0, \pm 1, \pm 2, \pm 3, ...$

Wednesday, April 17, 2019 11:08 AM

Ex. Solve the given equation on [0,211) and then find all solutions (a) $\tan^2 x + \tan x - 2 = 0$ (b) $\sec^2 \Theta \tan \Theta = 2 \tan \Theta$ Sol: (a) $tan^2x + tan x - 2 = 0$ $(t_{anx} - 1)(t_{anx} + 2) = 0$ tan x - 1 = 0 or $\tan x + 2 = 0$ tanac = 1 on tan x = -2 $x = \frac{\pi}{4}, \frac{5\pi}{4}$ -63.435° x = 296.565° -, convert to +360° x = 296.565° - 180° x = 116.565° _= convent to (b) All solution; add n. 212 to each one of these solutions

Wednesday, April 17, 2019 11:26 AM

b) sec^2 of tan 0 = 2 tan 0. sec² of tan o - 2 tan o = 0 $\tan \Theta \left(\operatorname{Aec}^2 \Theta - 2 \right) = 0$ tan 0 = 0 on $sec^2 \Theta - 2 = 0$ $\theta = 0, \pi$, sec²0 = 2 , sec 0 = ± 12 $-3 \cos\theta = \pm \frac{1}{\sqrt{2}} = \pm \frac{1}{\sqrt{2}}$ $\omega = \frac{2}{7}; \quad \omega = \frac{2}{7}$ $\Theta = \frac{\pi}{4}, \frac{7\pi}{4} \qquad \Theta = \frac{3\pi}{4}, \frac{5\pi}{4}$ (b) All solutions: add n. 21 to each of these. Use I dentities and then factoring E.g. Solve on [0°, 360°) (a) $2\sin\theta - 1 = \csc\theta$ (b) $5 + 5\tan^2\theta = 6\sec\theta$

(a) ZDinO -1 - LOCO $\sin\Theta(2\sin\Theta-1)=(\frac{1}{\sin\Theta})$. $\sin\Theta(Multiply both rides)$ by min O) $2\sin^2\Theta - \sin\Theta = 1$ $2\sin^2\theta - \sin\theta - 1 = 0$ $(2\sin\theta + 1)(\sin\theta - 1) = 0$ $\Delta in\Theta = -\frac{L}{2}$; $\Delta in\Theta = 1$ $-, \theta = 240^{\circ}, 330^{\circ}, 90^{\circ}$ (b) 5+5tan20 = 6 sec 0 $5 + 5(\sec^2 \theta - 1) - 6 \sec \theta$ $\frac{1}{\sqrt{2}} = 0$ 5 + 5 per 0 - 5 = 6 rec 0 (Nec O) = O - no no lution 5rec 20 - 6 rec 0 = 0 Nel (5 Nel 0 - 6) = 0 - rec 0 = <u>6</u> 3<u>3</u>.56 0=33.56°, 326.44° $\rightarrow \omega A \theta = \frac{5}{2}$

Monday, April 22, 2019 10:32 AM

Square both rides and use identities. E.g. $\tan(x) + \sqrt{3} = \sec(x)$ on $[0, 2\pi)$ _ Square both rider: (tanx + 13)(tan x + 13) $\left(\tan(x) + \sqrt{3}\right)^2 = \sec^2(x)$ Identity $t_{2}x_{+}^{2} = t_{2}\sqrt{3}t_{2}x_{+} + 3 = t_{2}\sqrt{3}t_{2} + 4$ 2 13 tense + 2 = 0 13 tanx + 1 = 0 $= -\frac{4}{3} = -\frac{3}{3}$ tanse $x = \frac{5\pi}{6}, \frac{11\pi}{6}$ extraneous solution Chack solution: x = 50 $X = \frac{\Pi_{\Pi}}{\sqrt{2}}$ tan (22) + 13 = sec (22) tun(x) + 13 = sec(x) $-\frac{\sqrt{3}}{3}+\frac{3\sqrt{3}}{1\cdot 3}-\frac{1}{-\sqrt{3}}$ 3 + 13 <u>T</u> 23 213 $\frac{2\sqrt{3}}{2}$ $-\frac{2}{\sqrt{3}}$ $-\frac{2}{\sqrt{3}}$ $-\frac{2\sqrt{3}}{\sqrt{3}}$